[ number of missing inner layers |

1e Entries 1
E Mean 2
r . |.Std Dev 0
107 S = '
E + | Entries 1
= Mean 2
o Std Dev 0
1072 L : : : ]
103
107
F Entries 1
C . Mean 2
-5 oe..v..| Std Dev 0
107E i I
F Entries 1
01056-””|””|”” L ....|...T§f‘§..|....|....i
8 I :
o L ]
1+ —— —— SRTU SCTU CLLU CETE AT
0.95- . . : . . . . .
0 05 1 15 2 25 3 35 4 45 5

[ number of missing outer layers |

1g Entries 1
= Mean 6
E Std Dev 0
o T |
10 E " Entries 1
o Mean 6
o Std Dev 0
102E Lol ]
E 1
E 6
I 0
1072 I
E 1
F 6
_ 0
107 T
F Entries 1
r Mean 6
S L] Std Dev. 0
107E ; I
E : Entries 1
I : : Mean 6
o108 ilians ....I....!....l...»%.s..I....I....,I
*é L
o [
i e S A A A
0.95 . : . . . . . . :
5 55 6 65 7 75 8 85 9 95 10

mean hi

11111
TooUoog

5
4.5

4
35

<hits> vs n

Entries
Mean
Std Dev

Entries
Mean
Std Dev

2.5F -

2

0.95
=3

Entries
Mean
Std Dev

37|
894
14

Entries
Mean

Std Dev

Entrie
Mean

Std Dev

Entrie: 3745
Mean 8949
Std 4.46
— 1
Entries 37§85
Mean 89¢9
Std Dev 14.96

: |
Entries 3745
Mean 896.9
R ————

0.95 * * *
10" 1 10 10 10°
TP P

=

tries

M
S

an

il Dev

Ej

tries

Ipan

wpldo wpldo wpldo w

vz m|
2

Mean

hadupag il

Entries

1
3
0
I
1
3
d

iy
TTTT] T

05 115 2 25 3 35 4 45 5

track hits
[Nofreco track vs pT |
1e - Entries 7
E : Mean 2.837
C N Std Dev 0
AL : : [
10 1§_ """"" ' e Entries 7
o : Mean 2.837
o . Std Dev 0
5] IS S | - e eiiiiiain. ]
10 E Entrie: 7
E . Mean 2.837
B N Std Dev 0
1073 oo S S ]
o . Entrie: 7
r Mean 2.837
_ Std
107 - i
F Entries 7
o Mean 2.837
Sl ... Std Dev 0
107 ; I
E Entries 7
5 B i i Mea'l'] 2.83ZI
o109 PV
2 L
< [
o N
1— '''''''''''''''' -
005 : : = ;
10 1 10 10 10
track p_



	Contents
	Page 1


